
Lot Inventory ID Description Qty. MSRP Total MSRP
LOT 2 UNISA3063 MULTI MECH BOTTOM CASSETTE 1 817.5 817.5
LOT 2 OMRE31139 Coleman 06930 , OUTPUT CARD , SRT2-OD08 5 429.99 2149.95
LOT 2 10014311 VACUUM HOSE ADAPTOR 1-4/5''X1-1/2'' 4 25.99 103.96
LOT 2 101573 DXD/CV HUB WLDM AFTR 8/96 1 79.91 79.91
LOT 2 1FSTNR-HH488 HHCS 1/2-13 X 5/8 MAGNI 10 1.71 17.1
LOT 2 1PLSTC-CV222 DSC PS LEAD-IN CVR-ORG 2 65.95 131.9
LOT 2 1PLSTC-CV224 DSC PS EDR MTR CVR-ORG 2 65.95 131.9
LOT 2 1PLSTC-CV225 DSC DS LEAD-IN CVR-ORG 2 65.95 131.9
LOT 2 1PLSTC-CV227 DSC DS EDR MTR CVR-ORG 2 65.95 131.9
LOT 2 1ROTO125 ROTO 8"X8"DIA T-BAR F/HYD 3 162.53 487.59
LOT 2 2L387 DAYTON COGGED V-BELT: 3VX450, 45 IN. OUTSIDE LG, 3/8 IN. TOP WD, 5/16 IN. THICK4 34.99 139.96
LOT 2 30.654 MOSMATIC , 32.654 , 3/8" , FXF , SS , SWIVEL 1 113.34 113.34
LOT 2 32.564 MOSMATIC , 32.564 , 3/8" ,  MXF , SS , SWIVEL 1 43.86 43.86
LOT 2 3671 ELECTRIC METER HANDLE 2 428.57 857.14
LOT 2 7035 Stainless Steel , 90 DEG , Swivel , 3/8" , MxF 4 52.99 211.96
LOT 2 92079-L AMPLIFIER, TELCO. 1 319.8 319.8
LOT 2 AIRCANNON-0472 Aircannon Dryer 1 8972 8972
LOT 2 ALL404939 MANUAL MOTOR PROTECTOR 32A 3 93.33 279.99
LOT 2 ALL70239455 MOTOR STARTER, 24V Ac/Dc, 8 - 32 A, 15KW, 2 1199.99 2399.98
LOT 2 ALLDOM1BB04 SIEMENS SIRIUS SOFT STARTER CONTACTOR , 24V , 2 299.99 599.98
LOT 2 AMADEELIUERR 1/2" POLY VALVE 10 9.99 99.9
LOT 2 AMZTH1013 HOSE FOR 1717A , BLUE , 25' , 1/4" , (ENTERPRISE) , 120 psi 8 26.5 212
LOT 2 ANIH55002 COLEMAN 6838 , ROD END , 7/16" 8 19.99 159.92
LOT 2 ANIH55003 COLEMAN 06839-1 , ROD END , 5/16" 39 9.24 360.36
LOT 2 ANKO DS-200 PERISTALIC METERIMG PUMP 12VDC 1 0 0
LOT 2 BAL07K237W723G1 10HP 3500RPM 3PH 60HZ, 208-230,460V 1 3399.99 3399.99
LOT 2 BALC3260-046 OBSOLETE PART, MARKED FOR DELETION 1 0 0
LOT 2 BALC3260-048 Balcrank 1/4" Mini Piggyback Filter Regulator Lubricator 3 99.99 299.97
LOT 2 BALG3212T MOTOR, RECLAIM, 5HP 1 999.99 999.99
LOT 2 BALG41006 Coleman 55227-4 , GEAR BOX, BOOM/TOPBRUSH , 17AZ50LR56 2 645.99 1291.98
LOT 2 BALG41008 Coleman 55255 , BALDOR , EM3611T , MOTOR , 3HP , 1800 RPM , 3 PHS , 60HZ 4 689.99 2759.96
LOT 2 BALG41011 Coleman 55002-1 , E-FUSION , DRIVE GEAR BOX , 17QZ10R56 10 649.99 6499.9
LOT 2 BALG41012 Coleman 55004 , GEAR BOX , DRIVER SIDE , 30:1 , RH , 17QZ30R56 2 629.99 1259.98
LOT 2 BALG41013 Coleman 55003 , GEAR BOX , PASS SIDE , 30:1 , 17QZ30L56 4 649.99 2599.96
LOT 2 BALG41020 MOTOR 12HP/3PH/50HZ/380/415V (dISCONTINUED) 3 617.58 1852.74
LOT 2 BALG41024 MOTOR 10PH/3PH/60HZ/230/460V 2 1026.52 2053.04
LOT 2 BAN72971 EYE , EMITTER , QS303E 1 0 0
LOT 2 BANE31004 Banner QS30EXQ-17527 Emitter 7 187.99 1315.93
LOT 2 BANE31005 Banner QS30RRXQ-71741 Receiver 6 212.99 1277.94
LOT 2 BANE31007 EMITTER, SM30 SERIES 7 249.99 1749.93
LOT 2 BANE31008 RECIEVER, SM30 SERIES 1 259.99 259.99
LOT 2 BANE31009 LONG RANGE RECIEVER 3 349.99 1049.97
LOT 2 BANE31015 Coleman 06741-1 , Banner QS30ARX-15616 Eye-Receiver 4 229.99 919.96
LOT 2 BANE31020 Banner SM30SN6RQ Receiver 19 199.99 3799.81
LOT 2 BANE31021 Banner SM306EQ Emitter 12 149.99 1799.88
LOT 2 BANE31026 EZ BEAM 4 PIN MICRO 2 86.03 172.06
LOT 2 BANE31027 EZ BEAM, RCVR 2 66.86 133.72
LOT 2 BANE31030 RECEIVER, LO W/ 2M CABLE 2 105.22 210.44
LOT 2 BANE31031 RECEIVER, DO W/ 2M CABLE 4 105.22 420.88
LOT 2 BANE31034 EMITTER, S18 SERIES EZ-BEAM 2 59.79 119.58
LOT 2 BANE35410 DO NOT USE , MARKED FOR DELETION 3 99.99 299.97
LOT 2 BCK1120-037 PUMP,  DIAPHRAGM 1 899.99 899.99
LOT 2 BEL00112273 MOTOR / GEARBOX , 40:1 , BEL1GEABX-AS665 3 1849.99 5549.97
LOT 2 BEL10033 SHOCK POST-CAD PLT 4 42.44 169.76
LOT 2 BEL10034 UPPR TIE BAR SPCR-E-COAT 5 16.53 82.65
LOT 2 BEL10105 DUO MNFLD RISER BLOCK 2 9.49 18.98
LOT 2 BEL10106 DUO J-BOX MOUNT 2 25.99 51.98
LOT 2 BEL101132 CW12  1-1/2 X 1-1/2SPIDE 3 42.22 126.66
LOT 2 BEL101157 EXIT ARM PS W/POS STOP 1 324.99 324.99
LOT 2 BEL102002 WHIP PITMAN ARM #1 2 187.34 374.68
LOT 2 BEL102003 WHIP PITMAN ARM #2 3 194.99 584.97
LOT 2 BEL102006 WHIP BEARING HALF ASY 7 58.21 407.47



LOT 2 BEL102037 GYRO CYLINDER (SET OF 2) 2 839.99 1679.98
LOT 2 BEL102146 ENDURO/PRO RINSE VALVE AS 1 364.1 364.1
LOT 2 BEL102763 TF POD DIST BLOCK ASY 2 133.38 266.76
LOT 2 BEL102851 QFW PS AIR/OIL CYL ASY 1 1210.16 1210.16
LOT 2 BEL102900 QUICKFIRE WASH SIZER SHAFT WLD-BLK 3 84.99 254.97
LOT 2 BEL102965 DXD DOLLY UP CYL ASSY 2 222.53 445.06
LOT 2 BEL10341 SML HUB TOP PLT F/LED 2 58.96 117.92
LOT 2 BEL10342 SML HUB TOP CAP F/LED 2 84.56 169.12
LOT 2 BEL105280 NZZL CK BODY SET OF 12 12 140.68 1688.16
LOT 2 BEL105861 CHEM FEED/FOAM WAX CK VLV 1 130.85 130.85
LOT 2 BEL106782 CW6-28 X 42-1/4 HUB ASY 1 315.39 315.39
LOT 2 BEL108052 TEMP SENSOR ASSY 2 297.37 594.74
LOT 2 BEL108260 UPPR INSIDE WHPLT BRNG 2 66.99 133.98
LOT 2 BEL108264 BELL HOSE MNT WLD 13 52.33 680.29
LOT 2 BEL108280 IK GR OUTSIDE STANCHN WLD 9 82.49 742.41
LOT 2 BEL108632 ELECTRIC DRIVE AND GEARBOX COMPLETE UNIT , 5HP 1 10299.99 10299.99
LOT 2 BEL108633 DXD Elect.DR Float Switch 1 213.17 213.17
LOT 2 BEL108735 FSW SL PS ARM CLEVIS 2 0 0
LOT 2 BEL109400 K-NZZL PS MAIN MNFLD ASY 2 75.5 151
LOT 2 BEL109402 K-NOZZLE FOAM TB ASSY 2 184.54 369.08
LOT 2 BEL110657 DUO/SWIND CYLINDER ASSY 1 374.78 374.78
LOT 2 BEL110669 B PAD CENTER NOZZLE ASY 1 128.49 128.49
LOT 2 BEL110671 TIE-BAR ASSY.  WHL  RCKR  DRIVER SIDE. 1 349.99 349.99
LOT 2 BEL110715 UPPER & LOWER SPIDER ASSY FULL SIDE SPIN RIGHT 3 40.3 120.9
LOT 2 BEL110718 WIRE HARNESS, 4-WIRE CONNECT 3 173.97 521.91
LOT 2 BEL110906 TPWHL AIR CUSH REG ASY 1 471.85 471.85
LOT 2 BEL110915 QFW-PLUS FRNT RLLR MT WLD 1 21.54 21.54
LOT 2 BEL110985 SIDEWINDER ARM WLD 2 432.6 865.2
LOT 2 BEL111236 DUO BX MT PLT WLD DRIVER 1 60.35 60.35
LOT 2 BEL111237 DUO BX MNT PLT WLD PASS 1 58.98 58.98
LOT 2 BEL111382 AIRIS SPRT MNTNG STUD ASY 6 13.4 80.4
LOT 2 BEL111663 SIDE WHEEL COLLER ASSEMBLY FOR SLIP RING 8 19.99 159.92
LOT 2 BEL111778 TNL. AUTO BUG SPRAY MANIFOLD 1 993.02 993.02
LOT 2 BEL111986 FREESTND BLLT CTA SET 1 2291.98 2291.98
LOT 2 BEL112302 CYLINDER MOUNT WELDMENT , QUICKFIRE , DRIVER SIDE 1 93.84 93.84
LOT 2 BEL112303 CYLINDER MOUNT WELDMENT , QUICKFIRE , PASSENGER SIDE 1 93.84 93.84
LOT 2 BEL1254 WOODRUFF KEY 9 6.14 55.26
LOT 2 BEL1BERNG040 BEARING ROD END FEMALE 1/2" 2 31.03 62.06
LOT 2 BEL1BERNG058 ROD END 1/2" 7 36.4 254.8
LOT 2 BEL1BERNG270 BEARING, 3/4" SHAFT 3 71.5 214.5
LOT 2 BEL1BERNG540 BEARING, 1" , 2-BOLT 1 20.25 20.25
LOT 2 BEL1BERNG626 PILLOW BLOCK BEARING 4 37.2 148.8
LOT 2 BEL1BERNG627 BERNG NCKL PLT 1-3/16 SS 6 65.24 391.44
LOT 2 BEL1BERNG650 BEARING, 3-BLT FLG UNIV 1-7/16 2 51.4 102.8
LOT 2 BEL1BERNG694 BEARING, 1-1/2", PILLOW BLOCK 5 40.86 204.3
LOT 2 BEL1BERNG849 CAST IRON/NCKL PLT W/SS 3 114.56 343.68
LOT 2 BEL1BERNG855 SSER-31 1-15/16 ER BEARNG 3 295.72 887.16
LOT 2 BEL1BSHNG485 TAPERED LOCK BUSHING KIT , REPLACED BEL9360 3 51.51 154.53
LOT 2 BEL1BSHNG728 BUSHING TAPER LOCK 1-1/4" 3 62.71 188.13
LOT 2 BEL1BUMPR167 BMPER;RECT 1X2-3/4 F/WRAP 14 7.07 98.98
LOT 2 BEL1CLAMP300 SS 1/2-13 UBOLT W/EXTEND 12 48.65 583.8
LOT 2 BEL1CLAMP373 SS WORMGEAR 7/16-25/32 14 2.78 38.92
LOT 2 BEL1COLLR333 COLLAR , LOCK 2PC SPLT 1-3/8" 4 19.52 78.08
LOT 2 BEL1CPLNG194 COUPLING 1-3/8" 1 29.99 29.99
LOT 2 BEL1CYLIND204 CYL-1.5 BOREX 2" STR. 3 199.99 599.97
LOT 2 BEL1CYLND250 CYLINDER , 1-1/2" X 6" (STROKE LENGTH) 3 244.14 732.42
LOT 2 BEL1CYLND720 CYLINDER,  ALMNM 2"BORE X 5"ST 2 268.11 536.22
LOT 2 BEL1CYLND730 CYLINDER , 2" X 6" 1 354.17 354.17
LOT 2 BEL1CYLND751 CYLINDER, ALMNM 2"BORE X 8"STR 1 291.19 291.19
LOT 2 BEL1CYLND968 CYLINDER 2-1/2 X 11 2 508.16 1016.32
LOT 2 BEL1ELBOW-PL666 ELBOW AIR 1/4" 2 5.79 11.58
LOT 2 BEL1ELECT-CB880 Cable 5M MICRO-SPLITTER 1 66.62 66.62
LOT 2 BEL1ELECT-CB995 CABLE MICROSPLITTER 3M 2 77.72 155.44



LOT 2 BEL1ELECT-DN500 DIN-TYPE, STRAIN RELIEF 5 12.94 64.7
LOT 2 BEL1ELECT-DS150 DISCONNECT FOR 60 AMP 1 263.45 263.45
LOT 2 BEL1ELECT-FS015 CIRCUIT BREAKER , 3PHASE , EATON XTPR016BC1 3 215 645
LOT 2 BEL1ELECT-FS176 Cord grip on limit switch, mounted on floor treadle 5 5.99 29.95
LOT 2 BEL1ELECT-FS750 RING LOCK 1/2 3 0.57 1.71
LOT 2 BEL1ELECT-MO050 CONTACTOR , 3 POLE , 17AMP , Eaton XTCE018C10A 3 197.8 593.4
LOT 2 BEL1ELECT-MO121 MOTOR STARTER CONTACTOR 110V50HZ, 120V60HZ 5 193.13 965.65
LOT 2 BEL1ELECT-MP125 MOTOR PROTECTOR 4-6 AMP 7 200.75 1405.25
LOT 2 BEL1ELECT-MP177 MOTOR PROTECTOR 1.6-2.5 AMP 3 145.48 436.44
LOT 2 BEL1ELECT-MS021 OVERLOAD/CONTACTR CONN 2 36.46 72.92
LOT 2 BEL1ELECT-MS046 AUX CONACT MMP ACCESSORY 2 18.56 37.12
LOT 2 BEL1ELECT-MS634 SOFT STARTER 9A DS7-342SX009N0-N 4 401.3 1605.2
LOT 2 BEL1ELECT-RL552 120V, AC, SLIM RELAY 3 74.82 224.46
LOT 2 BEL1ELECT-RL903 BOARD, 32PT 2 605.02 1210.04
LOT 2 BEL1ELECT-SN215 PHOTO EYE, TRANS (BANNER) 1 236.85 236.85
LOT 2 BEL1ELECT-SN217 EYE, TRANSMITTER (BANNER71559) 3 270.33 810.99
LOT 2 BEL1ELECT-SN220 PHOTO EYE, RCV SM30PRL 2 306.96 613.92
LOT 2 BEL1ELECT-SN222 QS20 RECEIVER EXTR 3 270.46 811.38
LOT 2 BEL1ELECT-SN360 CORD, PROX 6M EFECTOR 1 195.31 195.31
LOT 2 BEL1ELECT-SN365 PROX SENSOR 30MM NPN 3 197.11 591.33
LOT 2 BEL1ELECT-SN653 EYE, RECIEVER (YUKON TUNNEL) 3 96.72 290.16
LOT 2 BEL1ELECT-SN654 EYE, TRANSMIT (YUKON TUNNEL) 2 88.08 176.16
LOT 2 BEL1ELECT-SO752 SOCKET 8 PIN 3 39.21 117.63
LOT 2 BEL1ELECT-SW545 HIGH LEVEL SWTCH W/SLOSH (DISCONTINUED) 22 123.73 2722.06
LOT 2 BEL1ELECT-SW555 LIMIT SWITCH, SQUARE D 3 234.17 702.51
LOT 2 BEL1ELECT-TM100 TIMING RELAY PROGRAMMABLE 3 75.62 226.86
LOT 2 BEL1ELECT-TM251 TIMER MULTI-FUNC TRIGGERD 1 131.17 131.17
LOT 2 BEL1ELECTTM785 OFF DELAY TIMER 2 161.16 322.32
LOT 2 BEL1FILTR780 FILTER 1/4NPT 40 MICRON 1 123.21 123.21
LOT 2 BEL1FSTNR-BH210 FTTNG SS 1/4"H X 3/ 2 0.3 0.6
LOT 2 BEL1FSTNR-BH420 BHCS SS 1/4-20 X 3 14 0.5 7
LOT 2 BEL1FSTNR-BH425 BHCS SS 1/4-20 X 1-1/4 14 0.85 11.9
LOT 2 BEL1FSTNR-BH505 SCREW, SS 3/8-16 X 1" 8 4.2 33.6
LOT 2 BEL1FSTNR-FH626 FLT HD SCKT 5/16-18 X 3/4 10 0.48 4.8
LOT 2 BEL1FSTNR-FH836 FLT HD SCKT 1/2-13X1 ARMR COAT 15 1.43 21.45
LOT 2 BEL1FSTNR-HH045 HHCS SS 1/4-20 X 3/4 12 1.71 20.52
LOT 2 BEL1FSTNR-HH142 HHCS SS 1/4-20 x 3 4 1.25 5
LOT 2 BEL1FSTNR-HH155 BOLT,  SS M8 x 1.25 x 30MM 18 1.1 19.8
LOT 2 BEL1FSTNR-HH162 BOLT HHCS 5/16-18 x 3/4 3 1.29 3.87
LOT 2 BEL1FSTNR-HH169 1" HEX BOLT 5 0.24 1.2
LOT 2 BEL1FSTNR-HH171 7/8" Cadmium Plated Hex Head Cap Screw 5 2.51 12.55
LOT 2 BEL1FSTNR-HH270 HEX SCREW,  3/8-16x 1 MAGNI CO 7 0.87 6.09
LOT 2 BEL1FSTNR-HH288 HHCS 3/8-16 X 1-1/4 MAGNI 6 0.87 5.22
LOT 2 BEL1FSTNR-HH315 HHCS 3/8-16 X 1-3/4 MAGNI 23 1.54 35.42
LOT 2 BEL1FSTNR-HH460 BOLT, HHCS 7/16-14 x 2-1/2 16 1.54 24.64
LOT 2 BEL1FSTNRHH495 1-1/4" STAINLESS STEEL SOCKET HEAD CAP SCREW 20 14.99 299.8
LOT 2 BEL1FSTNR-HH522 HHCS 1/2-13X 1-1/2 MAGNI 2 1.44 2.88
LOT 2 BEL1FSTNR-HH540 HHCS 1/2-13 X 1-3/4" 5 1.71 8.55
LOT 2 BEL1FSTNR-HH558 HHCS 1/2-13X 2 ARMOR COAT 13 1.44 18.72
LOT 2 BEL1FSTNR-HH567 HHCS 1/2-13" X 2-1/4" 13 1.98 25.74
LOT 2 BEL1FSTNR-HH580 SCREW, 1/2-13 x 2-3/4 MAGNI 5 1.5 7.5
LOT 2 BEL1FSTNR-HH589 HHCS 1/2-13X 3-1/4 MAGNI 29 2.46 71.34
LOT 2 BEL1FSTNR-HH610 HHCS SS 1/2-13 X 3-3/4 3 6.94 20.82
LOT 2 BEL1FSTNR-HH630 BOLT, 1/2-13X 5 MAGNI COAT 6 2.53 15.18
LOT 2 BEL1FSTNR-HH648 HHCS 1/2-13X 5-1/2 MAGNI 9 2.68 24.12
LOT 2 BEL1FSTNR-HH684 SCREW, 9/16-12 X1-1/2 MAGNI 6 1.71 10.26
LOT 2 BEL1FSTNR-HH783 HHCS SS 5/8-11 X 2-1/4 4 6.71 26.84
LOT 2 BEL1FSTNR-HH811 SCREW, 5/8-11 x 3-1/4 MAGNI 10 3.38 33.8
LOT 2 BEL1FSTNR-HH817 HHCS 3/4-16 X1-1/2 MAGNI 10 3.3 33
LOT 2 BEL1FSTNR-HH873 HHCS 3/4" - 16 X 3-1/4" 6 180.64 1083.84
LOT 2 BEL1FSTNR-HH925 HHCS 9/16-12 X1-1/2 MAGNI 21 10.17 213.57
LOT 2 BEL1FSTNR-HH960 HHCS SS 7/8-9 X 1-1/2 1 12.36 12.36
LOT 2 BEL1FSTNR-SB125 BOLT SHOULDER SS, 5/16" x 1-1/4" 11 7.59 83.49



LOT 2 BEL1FSTNR-SB140 BOLT SHLDR SS 5/16X1-3/4 10 11.54 115.4
LOT 2 BEL1FSTNR-SB153 BOLT SHLDR SS 3/8 X 1" 10 9.57 95.7
LOT 2 BEL1FSTNR-SB550 BOLT SHLDR SS 1/2 X 1-1/2 4 19.93 79.72
LOT 2 BEL1FSTNR-SB565 BOLT SHOULDER SS 2 28.54 57.08
LOT 2 BEL1FSTNR-SB578 BOLT SHLDR SS 5/8 X 3/4 4 25.31 101.24
LOT 2 BEL1FSTNRSH104 SHCS SS 10-32 X 1-3 15 5.99 89.85
LOT 2 BEL1FSTNR-SH384 SHCS S.S. 1/4-20 X 1 14 0.87 12.18
LOT 2 BEL1FSTNRSH725 BOLT 10 1.4 14
LOT 2 BEL1FSTNR-SH767 SHCS SS 3/8-16 X 1-1/4 4 1.71 6.84
LOT 2 BEL1FSTNR-SH824 SHCS 3/8-16 X 4 30 1.6 48
LOT 2 BEL1FSTNR-SH980 SHCS 1/2-13X 6 MAGNI COAT 9 4.94 44.46
LOT 2 BEL1FTTNG-AJ252 ADJ PLSTC BALL FTTNG 1/4X 20 21.07 421.4
LOT 2 BEL1FTTNG-SW302 SWIVEL 1/4FJIC X 1/4FNPT 4 7.85 31.4
LOT 2 BEL1FTTNG-SW420 SWIVEL W/BULKHD DGG 3/8 4 206.33 825.32
LOT 2 BEL1GASKR320 O-RING FOR GEARBOX 10 41.37 413.7
LOT 2 BEL1GASKT250 GASKET FOR OIL RESERVOIR 4 10.1 40.4
LOT 2 BEL1GASKT320 DXD GBX/SHFT GASKT 16 42.98 687.68
LOT 2 BEL1GASKT750 GSKT INLET CONE 3/16 1 37.13 37.13
LOT 2 BEL1GASKT819 GASKET,  MOTOR TO GEAR BOX. 5 5.33 26.65
LOT 2 BEL1GASKT820 GASKET,  MOTOR TO GEAR BOX. 2 5.81 11.62
LOT 2 BEL1GASKT825 GASKET 2 14.95 29.9
LOT 2 BEL1GAUGE500 GAUGE , 0-100 PSI , BELANGER 2 44.89 89.78
LOT 2 BEL1GEABX526 PEERLESS GBX 40:1 STDV 1 1311.19 1311.19
LOT 2 BEL1GEABX-AS995 MOTO/GBX , 50:1 , 1/2HP (DUOSCRUB) , 112292 2 1239.99 2479.98
LOT 2 BEL1GRMIT222 GROMMET F/TORQUE PLATE AS 2 3.4 6.8
LOT 2 BEL1HOSE025 HOSE ASY 1/4 INSTAGRIP 4 18.96 75.84
LOT 2 BEL1HYDRA-PR500 HECO GEABX ADAP 2 270.94 541.88
LOT 2 BEL1HYDRA-PR510 HECO SUNGEAR 1-1/4BORE W/ 1 284.76 284.76
LOT 2 BEL1JOINT-ST500 1-1/2" UNIVERSAL JOINT 1 206.23 206.23
LOT 2 BEL1MADAP-BR600 ADPTR BRASS MALE 1/4NPT X 7 5.24 36.68
LOT 2 BEL1MCONC-ST375 CONN M HYD 1/2MJIC X 1/2M 5 5.06 25.3
LOT 2 BEL1MOTOR-EL621 MTR 2HP SS 208-230/460VLT 2 977.59 1955.18
LOT 2 BEL1MOTOR-EL650 MTR 1/2HP 208-230/460V 1 500 500
LOT 2 BEL1MOTOR-HY835 MOTOR HYD F/CV >60 1 389.99 389.99
LOT 2 BEL1NOZZL896 NOZZLE POWER JET F/HM 4 139.84 559.36
LOT 2 BEL1NOZZL980 NOZZLE BODY HINGED 2 5.76 11.52
LOT 2 BEL1NOZZL993 NOZZL BODY w/CHECK VALVE 17 10.07 171.19
LOT 2 BEL1NOZZL-DT010 NZZL DEFLECT TIP 1.0 BLKNZZL D 6 3.28 19.68
LOT 2 BEL1NOZZL-FJ025 NOZ TIP PURP, CTA FREE STANDIN 24 34.24 821.76
LOT 2 BEL1NOZZL-FJ116 NZZL PLSTC 2.0 25DEG 7 6.75 47.25
LOT 2 BEL1NOZZL-FJ232 NZZL PLSTC .5 40DEG 24 4.62 110.88
LOT 2 BEL1NUT-CN075 NUT CASTLE 3/4-16 HEX NUT 5 9.01 45.05
LOT 2 BEL1NUT-JM084 NUT JAM 1/2-20 5 1.06 5.3
LOT 2 BEL1NUT-JM500 NUT JAM SS 3/4-16 4 3.05 12.2
LOT 2 BEL1NUT-JM666 JAM NUT , 1-14 5 3.3 16.5
LOT 2 BEL1NUT-LC210 NUT NYLOCK 1/4-20 SS. 10 1.16 11.6
LOT 2 BEL1NUT-LC218 NUT , NYLOCK , ZINC 1/2-13 10 0.87 8.7
LOT 2 BEL1NUT-LC220 NUT NYLOCK ZINC 5/8-11 28 1.33 37.24
LOT 2 BEL1NUT-LC825 NUT NYLCK (SHALLOW)3/4-16 15 1.64 24.6
LOT 2 BEL1NUT-RG536 NUT REG 7/16-14 MAGNI 7 0.87 6.09
LOT 2 BEL1NUT-RG603 1/2-13 CADMIUM PLATED NUT 8 0.88 7.04
LOT 2 BEL1NUT-RG653 NUT REG 1/2-20 MAGNI COAT. 12 0.85 10.2
LOT 2 BEL1NUT-TN313 T-NUT 4PRONG 5/16-18 X3/4 3 0.58 1.74
LOT 2 BEL1PIN107 PIN 1-1/4L X 1/4DIA ZIN 10 1.93 19.3
LOT 2 BEL1PLSTC-CL025 CLIP 8" 53 1.8 95.4
LOT 2 BEL1PLSTC-CL050 CLIP 10" 62 1.83 113.46
LOT 2 BEL1PLSTC-CV046 COVER, PASS w/o MOTOR TUNNEL 1 59.41 59.41
LOT 2 BEL1PLSTC-CV048 COVER, DRIVE w/o MOTOR TUNNEL 1 59.41 59.41
LOT 2 BEL1PLSTC-EX100 PLASTC , GUIDE RAIL , YELLOW (Sold in 10' Section) 14 25 350
LOT 2 BEL1PLUG500 BREATHER PLUG 6 6.85 41.1
LOT 2 BEL1PLUG-SS500 PLUG PIPE 1/4 SS HEX HEA 4 10.87 43.48
LOT 2 BEL1RETNR129 PIN; COTTER ZINC 1/8 X 1 15 0.15 2.25
LOT 2 BEL1RETNR132 PIN COTTER SS 1/8 X 5 0.3 1.5



LOT 2 BEL1RETNR635 SS HAIR PIN .125 X 2-1/2 6 4.44 26.64
LOT 2 BEL1RGLTR175 REGULATOR, AIR MINI 1/4" 2 62.34 124.68
LOT 2 BEL1RGLTR650 REGULATOR, 1/4 AIR 4 95.75 383
LOT 2 BEL1ROLLR070 MID ROLLER , BLACK (DIRECT REPLACEMENT FOR 1ROLLR045) 10 24.43 244.3
LOT 2 BEL1ROLLR080 OUTER ROLLER , ORANGE , DTSD (DIRECT REPLACEMENT FOR GREEN 1ROLLR050) 9 24.14 217.26
LOT 2 BEL1RSRVR830 RSRVR AIR/OIL 20cu/in W/ 2 127.55 255.1
LOT 2 BEL1RSRVR835 RESERVIOR AIR/OIL 3 175.05 525.15
LOT 2 BEL1SEAL504 SEAL KIT F/ 1CYLND937 3 41.19 123.57
LOT 2 BEL1SEAL506 SEAL KIT, DS/PS CYL (102963/64 2 104.23 208.46
LOT 2 BEL1SEAL511 KIT, SEAL FOR 1CYLND350 (QUICKFIRE) 3 54.56 163.68
LOT 2 BEL1SEAL517 SEALKIT F/ALUM 1CYLND350 1 60.17 60.17
LOT 2 BEL1SHOCK750 SHOCK PRIME 1 32.84 32.84
LOT 2 BEL1SHOCK875 SHOCK STEERING DAMPER 3 171.37 514.11
LOT 2 BEL1SPRNG190 WAV SPRNG 2.42X3.118X.035 6 40.26 241.56
LOT 2 BEL1SPRNG242 BUMP STOP, FULL SIDE, SPIN RIGHT 4 27.68 110.72
LOT 2 BEL1SPRNG245 RUBBER BUMPER 1-3/4OD 5 16.98 84.9
LOT 2 BEL1SPRNG332 SPRING MARSH MELLOW 3OD 1 33.79 33.79
LOT 2 BEL1SPRNG436 SS SWIVEL ENDS TREADLE SPRING 5 30.79 153.95
LOT 2 BEL1SPROC410 SPROC 4 TOOTH F/DXD EXIT 1 362.28 362.28
LOT 2 BEL1SPROC420 SPROCKET , 4 TOOTH DXD ENT 2 520 1040
LOT 2 BEL1STEEL-KY150 KEYSTOCK 8 X 7 X 100mm 10 2.53 25.3
LOT 2 BEL1STEEL-KY160 SQ KEYSTOCK 5/16 X 1-1/2 7 3.09 21.63
LOT 2 BEL1STEEL-KY200 SQ KEYSTOCK 3/8 X 1-1/2 15 3.6 54
LOT 2 BEL1TEE-PL540 TEE BRANCH AIR SWVL 1/4 X 12 8.1 97.2
LOT 2 BEL1TEE-ST075 37 DEG MALE BRANCH TEE 4 5.81 23.24
LOT 2 BEL1VALVE-EL370 VALVE SELONOID 3-WAY 120VAC 6 93.25 559.5
LOT 2 BEL1VALVE-PN152 VLV 4-WAY MANUAL LEVER 4 116.17 464.68
LOT 2 BEL1VALVE-PN180 VALVE, 1/8 MNPT X 1/4T 8 20.61 164.88
LOT 2 BEL1VALVE-PN200 NEEDLE VALVE 1/4, TRIPLE FOAM 9 21.76 195.84
LOT 2 BEL1VALVE-PN202 VLV CHK SWVL ELBW 1/4NPTX 2 23.99 47.98
LOT 2 BEL1VALVE-PN531 VALVE NEEDLE LEAK CONTROL 1 28.35 28.35
LOT 2 BEL1VALVE-SP955 SEAL KIT, LEXAIR 1 88.5 88.5
LOT 2 BEL1VALVE-WA180 VALVE, INJECTION 2 73.53 147.06
LOT 2 BEL1VALVE-WA182 VALVE, SUCTION 2 52.37 104.74
LOT 2 BEL1VALVE-WA184 VALVE, DISCHARGE 1 65.52 65.52
LOT 2 BEL1VALVE-WA190 VLV INJECTION F/1PUMP630 2 74.36 148.72
LOT 2 BEL1VALVEWA204 POLY , 1LB , CHECK VALVE , 1/4" FNPT 6 43.99 263.94
LOT 2 BEL1VALVEWA207 1/4" INLINE POLLY CV 6 24.14 144.84
LOT 2 BEL1VALVE-WA252 VLVWTR 1/2ML FLAREX1/2MIP 1 43.94 43.94
LOT 2 BEL1VALVE-WA256 CHECK VALVE, POLY 7LB 3 43.18 129.54
LOT 2 BEL1VALVE-WA696 VALVE RELIEF 1/2" 100PSI 2 168.47 336.94
LOT 2 BEL1WASHR-FL332 WASHER, FLAT. SS. 6 1.16 6.96
LOT 2 BEL1WASHRFL332 DO NOT USE, MARKED FOR DELETION 6 0 0
LOT 2 BEL1WASHRFL498 WASHER FLAT S.S. 3/8 6 0.88 5.28
LOT 2 BEL1WASHR-FL747 WASHER FLAT S.S. 9/16 8 0.87 6.96
LOT 2 BEL1WASHR-FL810 WASHR FLT 1-1/2 OD X 3/4 5 1.64 8.2
LOT 2 BEL1WASHR-FL830 WASHER, FLAT.  3/4"  ARMOR 11 1.19 13.09
LOT 2 BEL1WASHR-LC125 WASHER LOCK SS 1/4 16 0.9 14.4
LOT 2 BEL1WASHR-LC270 WASHER LOCK 5/16 SS 22 0.87 19.14
LOT 2 BEL1WASHR-LC456 WASHER LOCK S.S. 1/2 16 0.87 13.92
LOT 2 BEL1WASHR-LC498 WASHR LOCK 1/2 MAGNI COAT 9 0.87 7.83
LOT 2 BEL1WASHR-LC789 WASHER, LOCK. F/SHCS  3/ 6 1.29 7.74
LOT 2 BEL1WASHR-LC830 WSHR LOCK 3/4 MAGNI COAT 5 0.87 4.35
LOT 2 BEL1WASHR-PL500 WSHR PLSTC 5/16IDX7 7 1.62 11.34
LOT 2 BEL3023 HUB NUT, DXD/CV 8 6.93 55.44
LOT 2 BEL3150 Tire Washer Spindle 5 150.66 753.3
LOT 2 BEL3223 SLEEVE, DRIVE ARM. 3 6.69 20.07
LOT 2 BEL3604 WHIP BEARING COLLAR HALF 8 82.05 656.4
LOT 2 BEL3622 SPIN STOP PLASTIC INSERT 8 8.43 67.44
LOT 2 BEL3642 WHIP RACK CNCTR THRUST BS 5 2.85 14.25
LOT 2 BEL3723 WHIP RACK CNCTR THRUST BS 6 10.19 61.14
LOT 2 BEL3944 DUAL MANIFOLD, SCC IK 1 114.99 114.99
LOT 2 BEL6100 DRIVEN BEARING W/O STUDS 4 224.12 896.48



LOT 2 BEL6916 SPACER, DXD ENT SPROCKET 1 16.77 16.77
LOT 2 BEL6925 DXD DOLLY UP BEARNG JRNL 1 27.32 27.32
LOT 2 BEL6928 DXD TAKEUP BEARNG JRNL 4 23.51 94.04
LOT 2 BEL6970 BLOCK, TF POD FEED 2 79.94 159.88
LOT 2 BEL6997 BUSHING, DXD MANUL UP 8 4.78 38.24
LOT 2 BEL7044 QFW SIZER PLT 1 52.76 52.76
LOT 2 BEL7045 QFW SIZER 3 51.49 154.47
LOT 2 BEL7075 QFW SIZER CAP-BLK 3 39.19 117.57
LOT 2 BEL7080 ROLLER, QUICKFIRE, BLACK 10 4.98 49.8
LOT 2 BEL7092 QFW BOOM CYLND MNT NUT 1 11.38 11.38
LOT 2 BEL7499 BELL HOSE PLATE 6 0 0
LOT 2 BEL7504 QUAD DR ARM BSHNG 2 12.36 24.72
LOT 2 BEL7506 RACK STUD W/H-PIN SLOT 5 13.95 69.75
LOT 2 BEL7508 PIN, W/ STUD 3 20.38 61.14
LOT 2 BEL7545 TPWL HUB ADAPTR 2 245.25 490.5
LOT 2 BEL7587 TPWL HUB GUARD 1 85.2 85.2
LOT 2 BEL7908 DXD MOTOV/HECO ADPTR FLNG 5 364.1 1820.5
LOT 2 BEL7909 DXD MOTOV ADPTR SHAFT 5 274.55 1372.75
LOT 2 BEL7910 SHAFT WASHER 4 8.02 32.08
LOT 2 BEL7912 TORQ RING F/MTR COVER 3 52.24 156.72
LOT 2 BEL7960 STOP-PEG 6 8.15 48.9
LOT 2 BEL8097 DSC HYD SPINDLE 3 138.75 416.25
LOT 2 BEL8260 QFW-SL HEAD RSR SDPLT-BLK 4 60.41 241.64
LOT 2 BEL8286 DSC EDR GUARD PLT MNT 3 6.87 20.61
LOT 2 BEL8293 DSC ELECT DRIVEN SPINDLE 3 199.26 597.78
LOT 2 BEL8922 DSC SPRAY MNFLD ANGL MNT 4 16.09 64.36
LOT 2 BEL9404 DBLSTR INNER CUP BUSHING 5 4.27 21.35
LOT 2 BEL9663 DSC SPRAY MNFLD ANGL MNT 6 4.26 25.56
LOT 2 BEL9673 WHL RCKR LNG TIE BAR SPCR 2 3.81 7.62
LOT 2 BEL9703 WHL RCKR FEED MNFLD 2 13.94 27.88
LOT 2 BEL9902 QFW-PLUS FRONT ROLLER 4 8.96 35.84
LOT 2 BELMO140 O.L. AUX CONTACT 3 33.05 99.15
LOT 2 BELREDUC-ST111 RDCR BUSHING HYD 1/4X1/8 6 1.55 9.3
LOT 2 BRER81003 WASH BOOM BELT BULK 238.5 18.15 4328.775
LOT 2 BRER81013 BELT, FUSION TIMING ENDLESS LOOP.  25 T20/1720 BFX VA 4 0 0
LOT 2 CAT27710 RETAINER,SEAL LPS 1 5.99 5.99
LOT 2 CATP45001-SK SEAL KIT 3535 PUMP , 31040 2 599.99 1199.98
LOT 2 CATP45002-SK CAT 30623 , SEAL KIT 7 145.99 1021.93
LOT 2 CD9968 ALEMITE PUMP, 5:1 STUB ALEMITE PUMP#9968 1 715 715
LOT 2 COCO101C 1/4” , TEE , FORGED 3 0 0
LOT 2 COCO900CC 1/4" x 1/4" HOSE STAYPUT BARB 7 0 0
LOT 2 COL06500-BW BALANCE WHEEL ASSY, E FUSION 2 157.46 314.92
LOT 2 COL40190-5 Transformer 500VA-120-24V 1 237.67 237.67
LOT 2 COL42090 INDICATOR LIGHT GREEN 15 8.95 134.25
LOT 2 COL42092 INDICATOR LIGHT 24VLT (RED) 13 6.89 89.57
LOT 2 COL45050 NOZZLE, FEMALE 5.0  40 V-JET BRASS 16 9.99 159.84
LOT 2 COL46042 FRAG HOSE AND GUN ASSY 1 290.35 290.35
LOT 2 COL47075 FLOW METER WAX/SOAP 2 42.99 85.98
LOT 2 COL55303 SHAFT, NORD GEARBOX     (DRIVE) 2 85.59 171.18
LOT 2 COL64075-1 END OF LIFE, SEE HAPV35120 1 449.99 449.99
LOT 2 COL92231 COUPLING, 1-1/2" BLAST N VAC 2 8.99 17.98
LOT 2 COLC06500-OML OSCILLATOR LINKAGE LEVERS 1.0  (BALDOR) 4 29.99 119.96
LOT 2 COLC06501-OML OSCILLATOR LINKAGE LEVERS   (NORD) 5 32 160
LOT 2 COLCO6501-OML DO NOT USE - DISCONTINUED LINKAGE 5 0 0
LOT 2 COLH058040 Hanger Ball Bearing Unit - 1.25" ID, Cast Iron, Normal Duty 2 159.99 319.98
LOT 2 COLH091363 Rubber Stop 2” x 1-5/8” with 1” Stud 3 8.1 24.3
LOT 2 COLH231753 1" X 1" TIRE BRUSH ALUMINUM COUPLING 1 85.6 85.6
LOT 2 COLH24095 HEAT STRIP 100W-120V 4" X 5" 4 45.29 181.16
LOT 2 COLH247270 Brush Spindle, TIRE WASHER – TW 96, HANNA 2 99.99 199.98
LOT 2 COLH28036 THERMOSTAT, SHAMPOOER 4 120 480
LOT 2 COLH366830 Valve 1" NPT Check 1 251.84 251.84
LOT 2 COLH366898 Air Cylinder 2" x 8" 1 299.99 299.99
LOT 2 COLH368110 Solenoid Valve, 2 POSITION 1 99.99 99.99



LOT 2 COLH368383 10" DUAL SPRAY BAR - 11 DEGRE 7 192.99 1350.93
LOT 2 COLH370486 SPRAY BAR  6-JET. #82.9143 2 373.93 747.86
LOT 2 COLH93121 GASKET, DIRT DOOR, OVAL VAC 6' 4 15.09 60.36
LOT 2 DAYB51025 PILLOW BLOCK BEARING 1/2" 2 0 0
LOT 2 DEM100.11P FOOT VALVE 1/4" PLASTIC 9 5.04 45.36
LOT 2 DEM41.9.7.3 COIL FOR 492S.8.3 VALVE, 24V 3 10.54 31.62
LOT 2 DEMH10001 SPRAY GUN/ FOAM WAND SET 1 84.8 84.8
LOT 2 DEMO412P.3 Solenoid , 3/8" , 24V , AC , 150PSI 1 99.99 99.99
LOT 2 DEMV32416 A416P.3 SOLENOID VALVE, 3/4" FPT 1 99.99 99.99
LOT 2 DEMV35033 DEMA VLV BRASS , 3/8" , 1200P , 24 , 453P.3 2 112.99 225.98
LOT 2 DEMV35034 DEMA , 1/2" , VALVE , BRASS , 24 AC , 454P.3 2 199.99 399.98
LOT 2 DEMV35034-K DEMA VLV REPAIR KIT   41.32 35 39.99 1399.65
LOT 2 DEMV35038 DEMA VLV BRASS 1"   458P.3 2 289.99 579.98
LOT 2 DEMV35053 MANIFOLD, VALVE 3 STATION 24V 1 154.2 154.2
LOT 2 DEMV35054 MANIFOLD, VALVE 4 STATION 24V 2 191.59 383.18
LOT 2 DEMV35060 VALVE 1/2"BUNA, 150 PSI 24V AC 9 71.99 647.91
LOT 2 DEMV35061 61.78V Repair Kit Viton Diaphragm 12 4.99 59.88
LOT 2 DEMV45000 INJECTOR, SS, 3/8" 2 157.74 315.48
LOT 2 DEMV45010 METERING TIP KIT 4 9.34 37.36
LOT 2 DEMV45011 DEMA INJECTOR 204B 1 76 76
LOT 2 DEMV55000 492S.8.3 VALVE, SS, 1/4NPT, 24 V 5 60 300
LOT 2 DEMV55002 DEMA VALVE , NYLON , 3/4" , 24V AC 1 189.99 189.99
LOT 2 DNS10COG1000-1 IQ DRIVE COG 1 0 0
LOT 2 DNSWIRH121 CABLE, ENCODER IQ2 6 61.43 368.58
LOT 2 DOD015488 HUB BORED TO 1-3/8" 2 124.03 248.06
LOT 2 DOD015489 5HSB 1-7/16" 015489 TIRE FINISHED BORE RAPTOR COUPLING HUB 2 139.99 279.98
LOT 2 DOD015803 HUB (GOES WITH TAPER LOCK 117153) 2 82.93 165.86
LOT 2 DOD117153 TAPER LOCK (GOES WITH HUB 015803) 3 19.86 59.58
LOT 2 DODB51001 BEARING, 1" PILLOW BLOCK 8 49.99 399.92
LOT 2 DODB51006 BEARING, FLANGE 1" 4 BOLT 2 45.1 90.2
LOT 2 DODBB124268 1-1/2" Ball Bearing Unit, Cast Iron, 2-Bolt 1 179.99 179.99
LOT 2 DODEC1645A06 CAPACITOR, 645 - 777 MFD, 125V AC, 4 64.99 259.96
LOT 2 DOM605 CHEMICAL PUMP , RED , SIPHON , MANUAL 77 18.95 1459.15
LOT 2 DULAA112P Vacuum Nozzle , Claw-Style , 1-1/2" x 12" , Black , Polyethylene 2 5 10
LOT 2 DULBC140B NOZZLE PROTECTOR , BLACK 6 5 30
LOT 2 DULDCA150N10 CUFF, ANGLE, 1-1/2", GRAY 6 6.95 41.7
LOT 2 DULDCA200N15 Angle Vacuum Hose Cuff  2" Hose I.D., 1-1/2" End Size 15 9.87 148.05
LOT 2 DULDCAS3161 SWIVEL, CUFF, 1-1/2" x 1-1/2" , GREY 1 4.75 4.75
LOT 2 DULDCAS3200150 DULTMEIER , REDUCER SWIVEL CONNECTOR , 2" Hose , 1-1/2" Slip End 53 9.99 529.47
LOT 2 DULFXGV12X15 Vacuum Hose , 1-1/2" x 15' , GRAY , NO CUFFS 3 49.99 149.97
LOT 2 DULHR102 FOOT VALVE, BLUE, VITON 1 23 23
LOT 2 DULHR6655K REPAIR KIT, HYDROMINDER 9 49.95 449.55
LOT 2 DULJS10R3 SWITCH, ROTARY, 8 POS. 3 STK 5 80.5 402.5
LOT 2 DULJS10R5 SWITCH, ROTARY, 10 POS. 2 STK 5 87.53 437.65
LOT 2 DULNP759B HOLDER WAND, 6" 7 28.51 199.57
LOT 2 DULNPDC555 Vacuum Clean-out Canisters, Vinyl 2 30.67 61.34
LOT 2 DULSM3306-301 Brass Mini Ball Valve 1/4" FPT, 1 Way Flow, Long Handle 4 10.29 41.16
LOT 2 DULTKCV100 Check Valve, Polypropylene 1" FPT (EPDM Seal) 3 24 72
LOT 2 DULTLLT100HLTB58JC CARWASH TRANSMITTER, W/LED & QC. 1 79.95 79.95
LOT 2 FLUV35014 Coleman 34023 , 1/2" , Check Valve , SS , FxF 16 54.99 879.84
LOT 2 FLUV35015 Coleman 34024 , 1/4" , Check Valve , SS , FxF 5 32.99 164.95
LOT 2 FLUV35016 SWIVEL, 1/4" MxF BRASS 8 29.99 239.92
LOT 2 FLWP45101-3 BOOSTER PUMP , 1.5 HP , 3 PH , 16 STAGE (CAST IRON) 2gpm @ 200 psi , Inlet/Outlet 3/4"2 929.99 1859.98
LOT 2 FLWP45104 BOOSTER PUMP , 3 HP , 1 PH , 14 STAGE (CAST IRON) 3 1099.99 3299.97
LOT 2 FTPO311V Fuid-O-Tech PO311V 3/8" Stainless Steel 1.8 GPM Clamp Style Pump 6 181.06 1086.36
LOT 2 GCV24VDC COIL, 24VDC 15 25.45 381.75
LOT 2 GCVC727 GC Valve , C727 , Solenoid Valve Coil , 24 VAC 57 21.99 1253.43
LOT 2 GCVCS301 COIL ONLY, FOR S301 VALVES 1 52.99 52.99
LOT 2 GCVV31012 SOLENOID, 1" , 24VAC , Brass 1 244.99 244.99
LOT 2 GCVV31012-K REBUILD KIT , 1" , (PLUNGER ASSY, PLUNGER TUBE, & DIAPHRAGM) 3 109.99 329.97
LOT 2 GCVV31012-SK 1" , REBUILD KIT , SEALS ONLY 2 26.99 53.98
LOT 2 GCVV31013 SS , NORMALLY CLOSED , SOLENOID, 1" , 24VAC 1 899.99 899.99
LOT 2 GCVV31014 POLY , NORMALLY CLOSED , SOLENOID, 1" , 24VAC 1 199.99 199.99



LOT 2 GCVV31106 SOLENOID COIL , 24V , DC 3 44.99 134.97
LOT 2 GCVV35015 BRASS , SOLENOID VALVE , 1-1/2" , NORMALLY CLOSED 2 554.99 1109.98
LOT 2 GCVV35015-K REBUILD KIT , FOR S211 ( PLUNGER ASSY , PLUNGER TUBE, & DIAPHRAGM ) 5 57.99 289.95
LOT 2 GCVV35107 Coleman 64053 , COIL ONLY , 24V , C987 28 18.99 531.72
LOT 2 GCVV35108 GC Valve Repair Kit LOW (2 Piece Part) 9-211-21 35 36.99 1294.65
LOT 2 GCVV35110 COLEMAN 64011 , 1/2" , SOLENOID VALVE , NORMALLY OPEN , BRASS 4 328.99 1315.96
LOT 2 GCVV35113 Coleman 64070 , 1/2" , SOLENOID VALVE , NORMALLY CLOSED , BRASS 1 194.99 194.99
LOT 2 GCVV35113-K REBUILD KIT, 1/2" N/C VALVE 7 71.99 503.93
LOT 2 GCVV35114 SS , NORMALLY CLOSED , SOLENOID , 1/4" , 24VAC , COLEMAN # 64071 , ( S301AF24N3BD7 , Previously S301AF01N3BD7 )2 119.99 239.98
LOT 2 GCVV35114-K REBUILD KIT, 1/4" N/C VALVE 6 48.99 293.94
LOT 2 GCVV35115 REPAIR KIT-LOW STAINLESS 16 54.99 879.84
LOT 2 GCVV35117 Coleman 64025 , SOLENOID, TWO STAGE SS 24 1 234.99 234.99
LOT 2 GCVV35118 Coleman 64025-93 , SOLENOID, THREE STAGE SS 2 336.99 673.98
LOT 2 GCVV35128 SOLENOID, 4 CHANNEL , 2VAC , BRASS 1 629.99 629.99
LOT 2 GCVV45010 STEM REPAIR KIT 5 53.11 265.55
LOT 2 GCVVSNUT TOOL, SPANNER NUT 4 19.99 79.96
LOT 2 GDRP09479A OIL , COMPRESSER , 1 QT , CHAMPION 8 10.95 87.6
LOT 2 GEMG41025 MOTOR , 1/3HP , 1PH 5 199.99 999.95
LOT 2 GEMG41026 MOTOR , 1/2HP , 1PH 14 229.99 3219.86
LOT 2 GEMSLS1800 LS1800 LEVEL SWITCH SINGLE-POINT LS-1800 SERIES 120-240 VAC 20 VA 1 61.23 61.23
LOT 2 GEN105121 NOZZLE 4-PACK , 1/4″ , 4.0 GPM 5 19.99 99.95
LOT 2 GEN105127 NOZZLE 4 PACK, 3.0 GPM 4 19.99 79.96
LOT 2 GIN1907200 SOLENOID VALVE, 2-WAY, 1/8" TO 1/4" NPT 1 79.99 79.99
LOT 2 GIN77026 Ginsan Multiplex Control with Delay for R.O. Pump Control 12 Bays, GS-16D 1 205.24 205.24
LOT 2 GLOWB607051 30" Oscillating Wall Mount Fan, 3 Speed, 8775 CFM, 1/3 HP, 1 Phase 3 330 990
LOT 2 GNR21EW87 Encapsulated Timing Relay, Single Function 4 24.99 99.96
LOT 2 GRA242Y57 OVERLOAD RELAY , XTOB040DC1 1 149.99 149.99
LOT 2 GRA2NNR5 Line Volt Mechanical Thermostat 2 117.72 235.44
LOT 2 GRA2W930 Relay , 8 Pin , 24V , DC 9 29.99 269.91
LOT 2 GRA-33NV48 INGERSOL-RAND V BELT 95099453 1 0 0
LOT 2 GRA4FLA8 VACUUM PRESSURE GAUGE, 2-1/2" (DISCONTINUED) 1 24.99 24.99
LOT 2 GRA6C877 Relay , 8 Pins , 24V , AC 20 17 340
LOT 2 GRAALLXTOB010CC1 Overload Relay XT IEC Bimetallic Relay 1 99.99 99.99
LOT 2 GRAML95.100 AC / DC CONVERTER 24V 95W POWER SUPPLY 1 399.99 399.99
LOT 2 H426649 Hanna , Stainless Steel Bin Container , [ Coleman-Hanna ] 1 1161 1161
LOT 2 HANH814336 DRIVE COLLAR 7/8"" X 1"" 1 96.46 96.46
LOT 2 HANNAH368085 BELT B57 FOR CAT 3535 COL PUMPSTAND 2 0 0
LOT 2 HYD1001290 DISCONTINUED 4 44.57 178.28
LOT 2 HYD1002994 AIR REGULATOR SON40012442 1 245.95 245.95
LOT 2 HYD129086 INJECTOR, BLUE, DB, 2.25GPM 5 64.99 324.95
LOT 2 HYD3000173 ADAPTER, PC2xNPT 8 13.25 106
LOT 2 HYD3000470 DISCONTINUED 10 11.06 110.6
LOT 2 HYD3000987 10/32"x1/4" PUSH POLY FITTING 12 17.15 205.8
LOT 2 HYD690002 Pink , Metering Tip , Push In 3 2.99 8.97
LOT 2 HYD690003 Purple , Metering Tip , Push In 3 2.99 8.97
LOT 2 HYDV35231 NOZZLE, BLAST TEC PRO 324 4.0 1 90.1 90.1
LOT 2 ICO9078-9029 3.11" x 440' Heavyweight thermal 18/CTN (3 packs of 6 rolls) 10 8.13 81.3
LOT 2 IDXMX10 CONTROLLER, MULTIPLEXED. (1SEC) 24V. ON & OFF DELAY. 3 244.03 732.09
LOT 2 IN511 HydroMinder 511 , 4.5 GPM Chemical Dispenser Unit , w/ Siphon Breaker and Mounting Bracket1 200 200
LOT 2 KAR-8.756-044.0 QC Plug, Double Shut-Off, Brass, 3700 PSI, 1/4″ FPT 5 0 0
LOT 2 KLE16091 16091 , Super Swivels , Straight Swivel , 1" x 1" ,  Female Ends , 5000 PSI 1 197.81 197.81
LOT 2 KLE218510 40" CLEAR HANDLE, FOAM BRUSH 4 31.54 126.16
LOT 2 KLE262660 HANDLE , 60" , FIBERGLASS 13 14.49 188.37
LOT 2 KLE335069 INTANK SCREEN 2 20.5 41
LOT 2 KLEA01-114-3431 Hydra-Cell A01-114-3431 Standard-Duty 10W30 Oil - 1 Quart 5 14 70
LOT 2 KLEAS32 Master Signal Air Switch , NORMALLY OPEN 2 34.99 69.98
LOT 2 KLECB0345 DECAL , ROTARY STYLE , 8 POSITION 1 8.99 8.99
LOT 2 KLECBK238 Yellow Self-Serve Bay Rotatory Switch Knob 2 5.99 11.98
LOT 2 KLECBK238BK BLACK & SILVER SELF-SERVE BAY ROTATORY SWITCH KNOB 3 5.74 17.22
LOT 2 KLECH1018 Aluminum wrench, use with 55-gallon and other large drums 5 59.99 299.95
LOT 2 KLECPS3000 Cryptopay Coordinator 1 506.24 506.24
LOT 2 KLECT2506RWF Red Coil Tubing Foamy Hose 25 Ft. X 3/8 In 2 76.09 152.18
LOT 2 KLEFHA40BL HANDLE, FOAM BRUSH. ALUM. COATED. 40" 3 22.59 67.77



LOT 2 KLEFHH300 Foaming brush handle holder 4 31.95 127.8
LOT 2 KLEFHH300-R Foaming brush handle holder w/ reinforcement 1 18.05 18.05
LOT 2 KLEFO1808G Triple Surface Green Synthetic Bristle Brush 41 34.99 1434.59
LOT 2 KLEFO205PBK BRUSH, NYLON. BLK.  2 1/2" W/ BUMPER GASKET. 3 36.8 110.4
LOT 2 KLEFPK06PT FLO JET POLY FITTING 7 623.84 4366.88
LOT 2 KLEGAL100B Pressure Gauge, 1/4" Bottom Mount, 0-100 PSI, 2-1/2" Face 3 18 54
LOT 2 KLEGAL2000B Pressure Gauge, 1/4" Bottom Mount, 0 - 2000 PSI, 2.5" Face, Liquid Filled 3 22.99 68.97
LOT 2 KLEGAM160 Utility Pressure Gauge - 1/8in. Rear Mount 2 10.99 21.98
LOT 2 KLEGUFBK Foam Gun With Nozzle Protector (Black) 3 22.79 68.37
LOT 2 KLEHSMPPV48300 TRI FOAMER HEAD 2 157.4 314.8
LOT 2 KLEHYPRO2414B-LP 8GPM, 1800PSI, 1725RPM/8.8HP, 1 1204.65 1204.65
LOT 2 KLEIN238100 STRAINER WASHER (HYDROMINDER) 10 1.5 15
LOT 2 KLEIN507 HydroMinder 507 , 4.5 GPM Chemical Dispenser Unit 4 205 820
LOT 2 KLEIN665500 DIAPHRAGM (502/506/507/511) 26 8.22 213.72
LOT 2 KLEIN6655K HYDROMINDER REPAIR KIT , VALVE PARTS FOR 506, 511, 530, 545, 1 19.99 19.99
LOT 2 KLEJG4FC4 1/4" x 1/4" , Straight , Female Adapter Fitting 2 6.99 13.98
LOT 2 KLEJG4PIE4 1/4" x 1/4" , PLASTIC STEM PLUG-IN , ELBOW FITTING 2 6.99 13.98
LOT 2 KLELED6S Dual Function Timer 16 294.99 4719.84
LOT 2 KLELED7 DIXMORE TIMER MODEL LED7-CB0316 1 375.55 375.55
LOT 2 KLELLS100 LIQUID LEVEL SWITCH FOR TANK , 1/2" X 1/2" MNPT 2 28.99 57.98
LOT 2 KLELT562 60" WOOD HANDLE WITH METAL TIP 7 14.99 104.93
LOT 2 KLEMYG004 Vacuum Motor Gasket for S-300H Extractor-MYG004 1 11.95 11.95
LOT 2 KLEPU21255 WEEP GUN , STAINLESS STEEL 6 54.99 329.94
LOT 2 KLEPU22050A ACCUMULATOR, 12GPM. STAINLESS. 2 0 0
LOT 2 KLEPU30611 RAILS, CAT PUMP 2120W (ELRENO) 1 1638 1638
LOT 2 KLEQJ360 Quick Release Check Valve 46 8.21 377.66
LOT 2 KLEQJ4676 1/4-NYR Nylon Quick Jet Nozzle Cap 169 3.46 584.74
LOT 2 KLEREBR52 BRASS REGULATOR , 750 - 2000 PSI , 5 GPM , 3/8" Inlet , 1/4" Outlet 3 113.1 339.3
LOT 2 KLEREBR52K KIT, REBUILD UPBR52 1 12.56 12.56
LOT 2 KLEREM364 1/4" MINI REGULATOR 1 33.71 33.71
LOT 2 KLERES8460-12 VALVE, RELIEF. 3/4" TEEJET PISTON TYPE. 9 52.29 470.61
LOT 2 KLEROFBBH20 20" Heavy Duty Filter Housing 1 120.41 120.41
LOT 2 KLEROMH40 HOUSING,  STAINLESS STEEL R/0 4" X 40" MEMBRANE. 3 485.94 1457.82
LOT 2 KLESN0003M2 NOZZLE , TIP , 1/8" , 0003 , MEG. 2 0 0
LOT 2 KLESN0012M2 NOZZLE, SS 1/8" 0012 MEG (ARM) 14 6.95 97.3
LOT 2 KLESN2505M2 TIP , NOZZLE , 2505 , 1/8" , MALE , MEG 5 9.99 49.95
LOT 2 KLESN25085M4 TIP , NOZZLE , SA 1/4" , 25085 , MEG 7 6.5 45.5
LOT 2 KLESN5040VVSS2 FOAM TIP, 1/8, H1/8U-SS 8 10.79 86.32
LOT 2 KLESN6512M4 TIP, SA 1/4"  6512  MEG 8 0 0
LOT 2 KLESNCCP2501M4 NOZZLE, VEEJET.  H 1/4"  GREEN 20 0 0
LOT 2 KLESNI1503M2 1/8 TIP 10 6.4 64
LOT 2 KLESNI25075M4 TIP, SPRAY.  1/4" MEG. 25075  HIGH IMPACT/ 1 6.7 6.7
LOT 2 KLESOD0473P120 DEMA,3/8" solenoid,120v 1 110.65 110.65
LOT 2 KLESOD443P24 3/8" Diaphragm Valve , 24V AC SPADE COIL , Dema 443P.3 6 42.99 257.94
LOT 2 KLESOD463SS24 Mini Diaphragm Valve , 3/8" , 24V , AC , SS , 463PS.3D 4 59.99 239.96
LOT 2 KLESOD463SS24-DIN 3/8" Valve With 24V , DC , DIN Coil , SS , 463PS.3D 3 78.89 236.67
LOT 2 KLESOD464MSS24 Dema 464M3.16.3 3-Station Manifold Valve With 24VAC With Bracket 2 239.54 479.08
LOT 2 KLESODM3MSS-HF 1/2",3-Station , High-Flow Manifold Valve , Non-Metering , 24V AC , DIN Coil 1 289.99 289.99
LOT 2 KLESOP1216 VALVE, SOLENOID. 1/4" BRASS 2-WAY 24V. 130PSI. NORMALLY OPEN. 2 186.51 373.02
LOT 2 KLEST0215 SWITCH, ROTARY. 10POS. 2STACK.  ELECTROSWITCH 2 64.99 129.98
LOT 2 KLESTK211 KNOB, FOR ROTARY SWITCH. 2 3.99 7.98
LOT 2 KLESW0250 Economy Low Pressure Swivel 3/8" MxF 12 8.41 100.92
LOT 2 KLESWS12FF 3/4" F X F Inline SUPER SWIVEL 2 79.99 159.98
LOT 2 KLESWV500 3/8" , MxF , HIGH PRESSURE SWIVEL 3 27.99 83.97
LOT 2 KLETDASH-12 DASH WIPES, 1000 CT 4 113.7 454.8
LOT 2 KLETIGS401 TIMER, GINSAN 1 164.99 164.99
LOT 2 KLETIGS403 Car Wash Vacuum Timer, 110V 2 172.06 344.12
LOT 2 KLEV-20381063 Flojet Poly Tube Fitting 1/2" 5 46.44 232.2
LOT 2 KLEVA24400 SOLID STATE DIGITAL TIMER , 24V AC OR 110V AC , 1 - 18 HOURS 1 143.06 143.06
LOT 2 KLEVACP The Vacuum Prospector Clean Out Bucket 1 63.44 63.44
LOT 2 KLEVAL9414 MOTOR, VACUUM 120V 2 83 166
LOT 2 KLEWPC23ABBNSSJG Wanner C23ABBNSSJG Hydra Cell Bypass Pressure Regulating Valve - 1in. 2 529.99 1059.98
LOT 2 KLEWTGRFBL FLEX WAND, BLUE 6 32.99 197.94



LOT 2 KLEWTMG24BL 24" WAND MOLD WITH BLUE INSULATED GRIP 1 49.99 49.99
LOT 2 KLEWTMG36BL WAND MOLD GRIP  36" BL. 4 266.71 1066.84
LOT 2 LBL1501 Sentinel Overlay Right Side 1 155 155
LOT 2 LOVB51000 LOVE JOY COUPLING , 5/8" , 00515651 11 19.99 219.89
LOT 2 LOVB51001 SPIDER, 5/8" 4 9.95 39.8
LOT 2 MICDETV3E1-RO4A8F Inductive proximity sensor, tubular, 8mm diameter x 62mm body, nickel-plated brass housing1 49.99 49.99
LOT 2 MOS40.009 Swivel Rotary Union, 90 DEG 6 49.99 299.94
LOT 2 MOS40.022 90 DEG , Swivel Rotary Union.  40.022 6 49.99 299.94
LOT 2 MOS40.032 Mosmatic rotary unions WDG swivel G1 3/8"NPTF G2 3/8"NTPM 40.032 1 90 90
LOT 2 MOS65.911 MAGNET BOOM SELFSERVE 4 0 0
LOT 2 MOS66.059 7' 5" , CEILING BOOM , 360° 3 1239.12 3717.36
LOT 2 MOTFT205 Cast Iron 1" Pillow Block Bearing P205-1 1 19.99 19.99
LOT 2 MOTSHFTREVKIT SHAFT REVERSAL KIT T2 SIZE 23 2 54.99 109.98
LOT 2 MOTUCP207-20 PILLOW BLOCK BALL BEARING , 1-1/4" , FIXED , CAST IRON 1 79.99 79.99
LOT 2 MOTXTCR007B21T Three-pole, Reversing, , Screw terminals, Full voltage reversing contactor COIL 1 409.99 409.99
LOT 2 MTM30398 1.5 HP PUMP 2 2399 4798
LOT 2 NCS27813-210 VACUUM BAG FILTER , 8" X 42" X 12"  PS TECH 10 79.4 794
LOT 2 NORG41050 Coleman 55001-3 , MOTOR , 1/2 HP , 1" SHAFT , 10:1 , Side Brush Motor/Gearbox Combo1 749.99 749.99
LOT 2 NORG41050-MO MOTOR, 1/2HP (10:1) (80S/4 CUS 56C) 3 449.99 1349.97
LOT 2 NORG41050-PK NORD RETRO FIT POSITIONER KIT 17 37.42 636.14
LOT 2 NORG41051 MOTOR 1/2HP 10:1 1.25" SHAFT (SK1282AZ VL-71L/4 CUS TW) 9 1408.83 12679.47
LOT 2 NORG41053-50 .16 OSC MOTOR 415V 1 754.42 754.42
LOT 2 NORG41053-BM OSC. BOOM MOUNT RETRO FIT.  10GA.  XWG-SM005  T304 SS. 45 89.99 4049.55
LOT 2 NORG41053-K BRACKET, OSC. RETRO.  ( Side Mount - L ) 30 99.99 2999.7
LOT 2 NORG41054 Coleman 55000-3 , 1/3 HP , GEAR MOTOR , WHEEL SCRUB 3 1199.99 3599.97
LOT 2 NORG41056-0 NORD 1/3HP MOTOR WITH GEARBOX ,  30:1 , WW/Fusion 2 944.99 1889.98
LOT 2 NORG41056-MO MOTOR ONLY, RETRO FIT 2 474 948
LOT 2 NORG41059 Coleman Hanna H368496 , 1/2 HP , GEARMOTOR , JCC Tire Glaze 3 899 2697
LOT 2 NORG41070 GEARBOX, BOOM 50:1 9 399.99 3599.91
LOT 2 NS100-5027-1 WIRE LINK CONNECTOR 1 39.22 39.22
LOT 2 NS135-1255 KEY, MOTOR COUPLING HUB. 1 14.11 14.11
LOT 2 NS135-1503 KEY,  BRUSH COUPLING HUB. 1 5.8 5.8
LOT 2 NS212-1004 1/2 HP MOTOR 3 1199.99 3599.97
LOT 2 NS400-0106 FILTER BAG, 18" 10 MICRON 4 34.95 139.8
LOT 2 NS400-1518 SNAP RING KIT, 4" AXEON 4 19.95 79.8
LOT 2 NS400-1527 CLOSE END CAP AXEON 4 29.78 119.12
LOT 2 NS520-1603 PUMP, SUMP 1/2-HP SUBMERSIBLE 1 1246.5 1246.5
LOT 2 NS9000-1001/900-0006 BUSHING, ECO 3000 3001 WRAP BRUSH ARM END 2 38.81 77.62
LOT 2 NSDOD010601 taper lock 1 81.5 81.5
LOT 2 NSDOD119581 bushing 1 15.16 15.16
LOT 2 NTN161505 1.5" Pillow Block Bearing 1 54.99 54.99
LOT 2 OMRE31132 Coleman 06680-3 , CJ1W-PA202 , Power Supply 1 549.99 549.99
LOT 2 OMRE31134 Coleman 06694-1 , VARIABLE FREQUENCY DRIVE 2 729.99 1459.98
LOT 2 OMRE31136 Coleman 06920 , INPUT CARD , SRT2-ID16 3 849.99 2549.97
LOT 2 OMRE31140 INPUT CARD SRT2-ID08 1 749.99 749.99
LOT 2 OMRE31141 OMRON SRT2-AD04 Compact Analog Input Card 2 989.99 1979.98
LOT 2 OMRE31142 Coleman 07525 , ANALOG OUTPUT CARD , SRTDA002 5 1199.99 5999.95
LOT 2 OMRE31143 OUTPUT CARD SRT2-OD16 5 799.99 3999.95
LOT 2 OMRE31144 RELAY, 24 VADC-AC/DC COIL 1PDT.  TUR C10-A10BX/024UC 25 16.99 424.75
LOT 2 OMRE31145 SOCKET FOR C10 RELAYS 16 7.21 115.36
LOT 2 OMRE31148 RELAY 120V , AC , 10amp 9 26.13 235.17
LOT 2 PDQ03010040 VALVE, FLOW-CTRL. 1/4" MPTX. 38T. PLSTC. 4 54.38 217.52
LOT 2 PDQ03010090 VALVE , 3/8" , SST , Normally Closed , 200PSI , 24VAC 5 116.36 581.8
LOT 2 PDQ03010112 VALVE, CHECK, DIAPH, 1/4MXF, 4 5 14.26 71.3
LOT 2 PDQ03010121 VALVE, 3/8" , SS , NC , 150 PSI , 24V AC 2 134.09 268.18
LOT 2 PDQ03010130 PDQ03010130 1/2" Valve FEM NPT, 24V, AC 2 95.16 190.32
LOT 2 PDQ03010144 VALVE , CHECK , 3/4" NPT , SST , 2000 PSI , F-M 3 139.99 419.97
LOT 2 PDQ03010146 VALVE,HIGH-PRESSURE,NC/NO,1",SST 3 1315.95 3947.85
LOT 2 PDQ03010149 BRIDGE FOAMING CHECK VALVE 5 37.29 186.45
LOT 2 PDQ03010178 VALVE, 3/4" BRASS 2WAY NC 232 4 62.5 250
LOT 2 PDQ03010180 VALVE, 1" BRASS. 2-WAY NC. 232PSI. 5 119.25 596.25
LOT 2 PDQ03010192 PUMP STATION CHEMICAL VALVE 3 86.26 258.78
LOT 2 PDQ03010198 REBUILD KIT FOR PDQ03010180 4 39.99 159.96



LOT 2 PDQ03140061 ADAPTOR 6 31.39 188.34
LOT 2 PDQ03150019 PUMP STATION INJECTOR 16 134.69 2155.04
LOT 2 PDQ03240017 SWIVEL , 90DEG , 1FNPT , LASERWASH , M5 2 239.99 479.98
LOT 2 PDQ04040035 PUMP STATION PRESSURE SWITCH 4 85.44 341.76
LOT 2 PDQ04050008 RELAY SOCKET , W-DPDT-RELAY , 24V AC , 8A 8 36.36 290.88
LOT 2 PDQ04070003 PHOTO-EYE,THRU-BEAM,XMTR,30MM,BANNER-QS 3 166.44 499.32
LOT 2 PDQ04070004 PHOTO-EYE,THRU-BEAM,RCVR,30mm,DO,BANNER 3 166.44 499.32
LOT 2 PDQ04070025 ARCH POSITION SENSOR 15 141.75 2126.25
LOT 2 PDQ04080006 CORDSET , M12 , 5/22 AWG , 60' , PVC 5 59.33 296.65
LOT 2 PDQ04080075 HARNESS,ETHERNET,BRIDGE-BAY,M5/LW 3 236.82 710.46
LOT 2 PDQ04080093 POSITION PROX CABLE U2216-0 WK 4T-6 DOM , 90 Degree 4 21.56 86.24
LOT 2 PDQ04080143 HARNESS,8-PT,TOP-BRUSH-ROTATION,TANDEM 4 184.09 736.36
LOT 2 PDQ04080203 HARNESS,BRDG-BK,MTR,TOP-BRUSH-ELEVATOR 4 52.17 208.68
LOT 2 PDQ04080233 Cable Festoon 12 16AWG 550" LWM5 2 231.84 463.68
LOT 2 PDQ04080390 CORDSET,12mm,3/20AWG,90°,3m 7 18.34 128.38
LOT 2 PDQ04080530 PAYGLOW HARNESS 18 28.79 518.22
LOT 2 PDQ04080646 HARNESS,  TANDUM ARCH. 1 129 129
LOT 2 PDQ04110034 FUSE,3A,MINI,FAST-ACTING,AUTOMOTIVE 26 2.76 71.76
LOT 2 PDQ04110059 REPLACEMENT FUSE 27 3.08 83.16
LOT 2 PDQ04110091 REPLACEMENT FUSE 38 1.85 70.3
LOT 2 PDQ04110102 MOTOR-PROTECTOR , 20-25A , 480Y/277V 2 133.08 266.16
LOT 2 PDQ04120041 MOTOR,3/4HP,1200,208-230/460V,3PH,IEC80 1 586.9 586.9
LOT 2 PDQ04120067 MOTOVARIO MOTOR, 3/4 HP , 208-230/460V 1 345 345
LOT 2 PDQ04120068 MOTOR,.5HP,1680,IEC71,208/460,TENV,FL 1 354.99 354.99
LOT 2 PDQ04180008 PULSE-WIDTH-DRIVE,DUAL,5A,24VDC,48VAC-IN 1 599.99 599.99
LOT 2 PDQ04180015 FREQUENCY-DRIVE,.37KW-0.5HP,208/240V,1PH 2 506.65 1013.3
LOT 2 PDQ04180036 VARIABLE FREQ DRIVE, BRIDGE 2 397.33 794.66
LOT 2 PDQ04180044 FREQUENCY DRIVE  LAZER WASH 4000 2 1295 2590
LOT 2 PDQ04200009 CABLE,FESTOON,12,16GA,200",BLUE 1 49.4 49.4
LOT 2 PDQ04200025 CABLE,POWER-CNTRLR,3-CONDUCTOR,42.5IN 1 31.23 31.23
LOT 2 PDQ04420026 ULTRASONIC SENSOR, BRIDGE , 15' 6 195.01 1170.06
LOT 2 PDQ04420036 ULTRASONIC SENSOR, SIDE , 60' 3 234.43 703.29
LOT 2 PDQ04430025 CONTROLLER , SGL-BRD , TITAN , UNPROGRAMMED 2 1160 2320
LOT 2 PDQ04540049 REMOTE-CONTROL,INFRARED,38KHZ,NEC-CODE 3 80 240
LOT 2 PDQ04540099 DISPLAY, LED, 6.5" 2 1131.36 2262.72
LOT 2 PDQ04540100 VFD COMMUNICATION MODULE 4 41.69 166.76
LOT 2 PDQ04550006 SPEAKER w/CABLE FRICTION PAY S 2 60.9 121.8
LOT 2 PDQ04580019 OUTPUT CARD 2 56.21 112.42
LOT 2 PDQ04580021 SIGN LED BD for IN BAY SIGN 1 613.33 613.33
LOT 2 PDQ04580026 OUTPUT CARD 7 103.53 724.71
LOT 2 PDQ04580040 CIRCUIT BOARD , COMM HUB , VIPER-CTRL , GEN2 2 1099.99 2199.98
LOT 2 PDQ04580059 Inverter Circuit Board 21 83 1743
LOT 2 PDQ04590027 RESISTOR,METAL-FILM,475-OHM,1%TOLORENCE 23 1.32 30.36
LOT 2 PDQ05030018 WASHER , M8 , FENDER , STAINLESS STEEL 8 0.7 5.6
LOT 2 PDQ05040022 SCREW , M8 X 20MM , HHCS , SST 2 1.4 2.8
LOT 2 PDQ05040266 SCREW,5/8-11X12,HHCS,SST 3 17.57 52.71
LOT 2 PDQ05120030 RETAINING RING , 17MM 5 2.86 14.3
LOT 2 PDQ06010003 Bridge Roller 20mm Sealed Ball Bearing - M5 14 29.99 419.86
LOT 2 PDQ06010012 BRIDGE ROLLER 15mm SEALED BALL BEARING - M5 10 19.99 199.9
LOT 2 PDQ06010075 BEARING , FLANGE , 4BOLT , 1.000" BORE , SST (Previously 06010065) 12 279.99 3359.88
LOT 2 PDQ06020029 BELT, TANDEM SURFLINE, PIVOT 3 77.9 233.7
LOT 2 PDQ06020030 BELT, FLAT TOP BRUSH 6 217.04 1302.24
LOT 2 PDQ06020033 BELT,HT,8MM-20,560PL,NEOPRENE 4 51.47 205.88
LOT 2 PDQ06020045 PUMP DRIVE BELT 4 23.71 94.84
LOT 2 PDQ06020048 DRIVE BELT for ARCH ROTATION 3 64.91 194.73
LOT 2 PDQ06020051 BELT, TRACK LENGTH, TANDEM SUR 2 485.3 970.6
LOT 2 PDQ06020052 BELT, BRIDGE-DRIVE, LW360PLUS 4 337.32 1349.28
LOT 2 PDQ06020053 BELT, TROLLEY-DRIVE, SURFLINE 3 209.91 629.73
LOT 2 PDQ06020055 BELT, TROLLEY-DRIVE 20MM LW360 3 196.5 589.5
LOT 2 PDQ06030043 BRIDGE/TROLLEY BELT IDLER PULL 3 47.59 142.77
LOT 2 PDQ06050112 LINK , E-CHAIN , TROLLEY , LASEREWASH 13 21.66 281.58
LOT 2 PDQ06060030 BLOCK, ORANGE 2 34.25 68.5
LOT 2 PDQ06150109 CORE, SIDE BRUSH, HOLLOW, TANDEM 2 386.94 773.88



LOT 2 PDQ06160467 COVER , BEARING , THRUST , SIDE BRUSH , ICON 1 62.9 62.9
LOT 2 PDQ06170003 ROLLER,HORIZONTAL,2.88,DELRIN,W/BEARING 2 40.19 80.38
LOT 2 PDQ06170023 ROLLER , BRIDGE/TROLLEY , LASERWASH M5 3 179.99 539.97
LOT 2 PDQ06170034 ROLLER,E-CHAIN-SUPPORT,LONG,UHMW 5 26.01 130.05
LOT 2 PDQ06240593 PANEL,CONTROLLER-BOX,MOUNTING-ASSY,ACC 1 220.5 220.5
LOT 2 PDQ06240856 PANEL,FORMED,ELEC,COMPONENTS,SMART,CARD 2 310.62 621.24
LOT 2 PDQ06280065 GEARBOX , RTANG , 20:1 , IEC71 , MRVC 2 559.99 1119.98
LOT 2 PDQ06280066 GEARBOX 90º , 50:1 , IEC63B14 (Previously 06280060) 2 517.55 1035.1
LOT 2 PDQ06280075 GEARBOX-MOTOR,ELEV,TOP-BRUSH,TDMSL 1 2084.09 2084.09
LOT 2 PDQ06280083-RH GEARBOX / MOTOR , RH , TRLY , SIDE-WASH , BB , TDMSL 1 1376.83 1376.83
LOT 2 PDQ06390024 SPACER , PLATE , SIDE BRUSH SUP , ICON , MV 1 9.32 9.32
LOT 2 PDQ09020158 SIGN , COUNTOWN-TIMER , LED , BSC , ENG , LW 2 1933.33 3866.66
LOT 2 PDQ09150019 GATEWAY, FIREWALL, ETHERNET, CA/DSL, W/ PROG 1 1166.67 1166.67
LOT 2 PDQ10320-N BEARING FLANGE, 2-BOLT 2 113 226
LOT 2 PDQ11010052 I/O-MODULE , 10IN , 20OUT , 4US , 2SERIAL 7 918.23 6427.61
LOT 2 PDQ11059-3BX BELT FOR LW4000 PUMP STAND 3 110.25 330.75
LOT 2 PDQ11150048 TRUCK , BRIDGE , LASERWASH / LASERJET 1 424.99 424.99
LOT 2 PDQ11350022 CHEMICAL PICKUP VALVE KIT 1 55.23 55.23
LOT 2 PDQ34370 CORDSET, 12MM. 320AWG, 90DEG. 2M, WK 4T-2DOM 12 70.2 842.4
LOT 2 PDQ36800 JUMPER, INSULATED. GRAY. 2 116.27 232.54
LOT 2 PDQ41001 MOTOR HYD 3 CID 4 BOLT FLANGE, GATLIN GUN 1 521.03 521.03
LOT 2 PDQ44553-S ADAPTER , 3/8" x 1/4" , FNPT , SWIVEL 2 21.01 42.02
LOT 2 PDQ63040 COIL, SOLENOID. 24VAC.  50/60HZ. 9W  DANFOSS 4 25.99 103.96
LOT 2 PDQ63134 VALVE, CHECK. 1/4" MNPTX. 1/4" BARB. PVC. 6 11.61 69.66
LOT 2 PDQ63274 VALVE , FLOAT , 1'' , DIAPHRAGM , 90 DEG 1 150 150
LOT 2 PDQ66025 STRAINER, SUCTION 1/4"FPT. 50 MESH. 11 318.28 3501.08
LOT 2 PDQ66500 SWIVEL , 1" , STRAIGHT , HIGH PRESSURE , STAINLESS STEEL , 16091 4 249.99 999.96
LOT 2 PDQ67055-4B NIPPLE , HEX , 3/8" , M x M , BRASS 2 2.49 4.98
LOT 2 PDQ67404-4B ELBOW , 3/8" , 90 DEG , BRASS 2 6.71 13.42
LOT 2 PDQ68116-MHB HOSE BARB , 1/2" x 3/8" , BRASS , M x Barb End 2 5.17 10.34
LOT 2 PDQ71017-NCS NUT , 5/8-11" , HEX , LOCK , SST 3 4.99 14.97
LOT 2 PDQ93020 POSITION PROX SENSOR 5 65.8 329
LOT 2 PDQ93021 POSITION PROX SENSOR XS618B1NAM12DOM 9 69.6 626.4
LOT 2 PDQ93024 Prox, 18MM, 10-30VDC, NPN, LON , XS618B4NAM12DOM 9 89.99 809.91
LOT 2 PDQ93025 PROX, 30MM, 10-30VDC, SHORT 6 74.99 449.94
LOT 2 PDQ93026 PROX, 30MM, 10-30VDC, LONG 3 89.99 269.97
LOT 2 PDQ93194 PHOTO-EYE, AMP.  24VAC. 10AMP. SPDT.  11PIN. 1 296.99 296.99
LOT 2 PDQKIT007 O RING KIT , LASER SPRAY ARCH 5 12.09 60.45
LOT 2 PDQKTL4027 KIT,UPDATE,SOFTWARE,19.0B,LASERMIND 1 217.34 217.34
LOT 2 PNL-MSP10-460 1-10 hp starter pnl 460v 1 2351 2351
LOT 2 POSGUYSWCR3227-512C CARD READER 3 0 0
LOT 2 PRENCS450 BRACKET, FOR SWIVEL BOOM.  FABRICATED.  #NN0552 NCSWASH/NIAGARA 3 45.31 135.93
LOT 2 PS6H-S05-01 TANK , 6 GALLON HORIZONTAL , PRO SOURCE 1 315 315
LOT 2 PUR102-2124 FILTER HOUSING 20" 1 54.4 54.4
LOT 2 PUR40073 CLAMP ASSY 3 24.71 74.13
LOT 2 PURAD-211Y FLUSH VALVE FOR RO SYSTEM 2 39.78 79.56
LOT 2 PURC20-46N GASKET FOR DHH3 AND DHJ3 1 27.99 27.99
LOT 2 PURMGRE40 GREEN FLOAT SWITCH , 3 WIRE , 40' 6 109.99 659.94
LOT 2 PURMYEL40 YELLOW FLOAT SWITCH , 2 WIRE , 40' 7 109.99 769.93
LOT 2 PURRCC10SA REACTION CHAMBER FOR RECLAIM SYSTEM 2 624.99 1249.98
LOT 2 PURSDC25-2005 FILTER HYDRONIX 5-MIC WHITE 3 9.98 29.94
LOT 2 PURSPV-40CAP MEMBRANE CAP 2 37.4 74.8
LOT 2 PURVSH40CAP PLASTIC MEMBRANE END CAP AND O-RING 40068 6 22.99 137.94
LOT 2 REXB31001 E4 BEARING INSERT.  #7300015 8 134.8 1078.4
LOT 2 ROTP35000 56C ADAPTER, VANE PUMP 5 24 120
LOT 2 ROTP45058 FLUID-O-TECH , PO311V , 1/3 HP , Stainless Steel 6 178 1068
LOT 2 SCIH31001 GAUGE, 0-100 BACK MOUNT 2 21.83 43.66
LOT 2 SCIH31002 GAUGE, 0-100 BOTTOM MOUNT 13 17.63 229.19
LOT 2 SCIH33002 GAUGE, 0-300 BOTTOM MOUNT 11 17.63 193.93
LOT 2 SEEALLSNO36-36" MIRROR, 36" GLASS CONV. SHATTER RESISTANT. 1 284.45 284.45
LOT 2 SMCV35009 CYLINDER, PRESOAK TILT  V35009-06841   NCMC125-0200CS 6 79.99 479.94
LOT 2 SMCV35011 CYLINDER, WHEEL SCRUB 9 269.99 2429.91
LOT 2 SMCV35011-SK SEAL KIT FOR V35011 5 24.99 124.95



LOT 2 SMCV35012 VALVE, 1/4", QUICK EXHAUST   SMCV35012 07505  NAQ2000-N02 22 34.99 769.78
LOT 2 SMCV35012-K REBUILD KIT, VALVE, 1/4" 6 22.32 133.92
LOT 2 SMCV35014 VALVE, 1/2", SS, PRESOAK LP.  VXD236FZ1YB 9 249.99 2249.91
LOT 2 SMCV35014-K KIT, REBUILD 3 48.69 146.07
LOT 2 SMCV35016 SMC NCME200-0300 Air Cylinder 3 119.99 359.97
LOT 2 SMCV35018 REGULATOR,  1/2" W/AUTODRAIN.  AW40-N04DE-AZ 3 189.99 569.97
LOT 2 SON10007637 Flange Bearing, 2-Bolt, 1-15/16in Shaft Dia., ENTRANCE END TAKE UP DRUM BEARING4 360 1440
LOT 2 SON10011883 BEARING DUST COVER 1 18.91 18.91
LOT 2 SON10014501 FLOW METER,.5-5GPM 2 134.05 268.1
LOT 2 SON20001658 CLAW, EXPRESS VAC 1-1/2" 20 31.27 625.4
LOT 2 SON20002860 Sprocket, 4-Tooth Taper-Lock for Log Chain Sonnys Over Under and Surface Conveyors2 431.49 862.98
LOT 2 SON20002888 SWITCH, BELL HOSE TIRE. WITH 32" HOSE 3 170.06 510.18
LOT 2 SON20003036 Log Chain Take-Up Drum for Over-Under AIR TAKE UP Conveyor 2 630 1260
LOT 2 SON20003571 TURBINE , 25HP , VAC , TURBINE ONLY. 1 7413.16 7413.16
LOT 2 SON40012531 3/8" , BLACK , BELL HOSE , 100' REEL 56 1.92 107.52
LOT 2 SONA700-2 CYLINDER, 2" BORE X 6" STK. SMC. 2 165.96 331.92
LOT 2 SONFRN0007C2S-4U VFD SONCOAST FREQUENCY DRIVE 1 647.99 647.99
LOT 2 SPRAB23500-1/4-KIT KIT, REBUILD POWER JET 3 17.95 53.85
LOT 2 SPRM91021 #08,4.9GPM 5 58.33 291.65
LOT 2 SPRM91022 #06,3.7GPM 6 58.33 349.98
LOT 2 SPRM91023 #4 CARTRIDGE,2.5 GPM 6 60.05 360.3
LOT 2 SPRM91028 THREADED BALL FOR 06561 6 6.02 36.12
LOT 2 SPRV30504 SPRAY TIP 1/4" MEG 0504 23 10.99 252.77
LOT 2 SPRV31508 NOZZLE, 15° #8 5 6.7 33.5
LOT 2 SPRV32505M4 NOZZLE, 25°, 1/4" 1 5.99 5.99
LOT 2 SPRV34003 SPRAY TIP 1/4 MEG 4003 22 6.14 135.08
LOT 2 SPRV34005 SPRAY TIP , 1/4" , MEG 4005 , 40 DEG 35 8.29 290.15
LOT 2 SPRV34006 SPRAY TIP 1/4 MEG 4006 13 6.3 81.9
LOT 2 SPRV34008 SPRAY TIP 1/4 MEG 4008 9 6.3 56.7
LOT 2 SPRV34010 SPRAY TIP 1/4 MEG 4010 1 6.14 6.14
LOT 2 SPRV35010 SPRAY TIP 1/4 MEG 0510 3 5.95 17.85
LOT 2 SPRV39508 NOZZLE, ¼" KYNAR PRESOAK 9508 35 7.96 278.6
LOT 2 SPRV44008 NOZZLE, 4008, PLASTIC 9 7.96 71.64
LOT 2 SPRV44010 NOZZLE, 4010, PLASTIC 3 7.96 23.88
LOT 2 SPSE31053 OVERLOAD RELAY 1 219.99 219.99
LOT 2 SPSE31054 CONTACTOR 85AMP , 3 POLE 1 250 250
LOT 2 SPSE31055 CONTACTOR , 43A , 24V , AC , BLOWER 1 159.99 159.99
LOT 2 SPSE31056 OVERLOAD RELAY 9-45AMP 5 109.99 549.95
LOT 2 SPSE31057 CONTACTOR, 16AMP. 3POLE 120V 3 109.99 329.97
LOT 2 SPSE31058 CONTACTOR , 40A , 240V , AC , 3 179.99 539.97
LOT 2 SPSE31059 OVERLOAD, 5.4-27 AMP 1 107.07 107.07
LOT 2 TECSPIR38HOSE SPIRAL FLEXABLE AIR HOSE 3/8" X 25', 1/4" NPT 2 69.99 139.98
LOT 2 TELE31062 Coleman 06622-1 , TELCO TRAN SPEC , SMT 5000C NG K 3 229.99 689.97
LOT 2 TELE31063 Coleman 06620-2 , TELCO RECEIVER , SMR 5425/1 NG K 3 309.99 929.97
LOT 2 TELPA11B303T 24VDC Photoelectric Amplifier 2 145 290
LOT 2 TOPM91065 COLEMAN 58001 , TOPAZ , FLOAT VALVE , 3/4" 2 94.99 189.98
LOT 2 TOPM91067 COLEMAN 58002 , TOPAZ , FLOAT VALVE , 1" 3 88.99 266.97
LOT 2 TURE31004 Coleman 06626 , TURCK PROX DC QD 9 134.99 1214.91
LOT 2 TURE31006 CABLE PROX, 2M, 90° 9 23.95 215.55
LOT 2 TURE31007 06650-4 , CABLE PROX , 4M , 90° 24 52.99 1271.76
LOT 2 TURE31008 CABLE PROX, 6M, 90° 5 39.99 199.95
LOT 2 TURE31009 Coleman 06650-12 ,Turck , WKV 4.4T-15/S618 , CABLE PROX, 15M, 90° 7 54.99 384.93
LOT 2 TURE31010 Coleman 06639 , COMMUNICATION CABLE 1 378.99 378.99
LOT 2 TURE31018 EYE CABLE. 6M, 6PIN, QD STR CO 6 69.99 419.94
LOT 2 TURE31035 TURCK PROX DC W/ 10M CABLE 10 329.99 3299.9
LOT 2 UNIOM1407 COIN CUP, MOLDED PLASTIC BLK. 3 56 168
LOT 2 UNIOM1526 POWER SUPPLY,  ATX. 12V ZIPPY. 1 173.9 173.9
LOT 2 UNIOM1539 MISC IO BOARD 1 686.79 686.79
LOT 2 UNISA1877 WSII BILL ACC BEFOR 2020 1 1331.79 1331.79
LOT 2 UNISA2021 MOXA BOX, UNITEC 1 662 662
LOT 2 UNISA2036 Portal TI Large Coin Hopper Tray 1 1086.43 1086.43
LOT 2 UNISA2044 Washpay Stop Button Cable Assembly 2 26.79 53.58
LOT 2 UNISA2175 COIN MECH 1 0 0



LOT 2 UNISA2220 RFID Board Assembly w/ Bracket 1 452.99 452.99
LOT 2 UNISA2271 SENTINEL, HECON PRINTER ASSY. 1 1283.2 1283.2
LOT 2 UNISA2379 PORTAL TOUCH SOLID STATE DRIVE SA2379-1786 1 399.99 399.99
LOT 2 UNISA2417 READER, RFID. 1 3500 3500
LOT 2 UNISA4040 SITE SERVER 1 3781.07 3781.07
LOT 2 VEL230-002-FL FILTER, 5 MICRON 5 32 160
LOT 2 VEL230-005-FL FILTER, 1 MICRON 10 29.7 297
LOT 2 WAS10042 (FI) , RELAY , 24V , DC , 8-PIN FINDER 5 29.99 149.95
LOT 2 WAS17948 GEAR BOX , 25:1 , TROLLY/CARRIAGE R3 1 906.1 906.1
LOT 2 WAS29908 FLOAT SWITCH, LOW LEVEL 5 97.75 488.75
LOT 2 WAS33259 CORD PROX 12mm 90-DEG 2m 1 146.52 146.52
LOT 2 WAS33293 FESTOON ROLLERS 2 1261.46 2522.92
LOT 2 WAS37402-AB POWER SUPPLY 24V DC 1 418.33 418.33
LOT 2 WAS37801 HEAT STRIP 1 3936.6 3936.6
LOT 2 WAS61929 DANFOSS COIL 3 46.8 140.4
LOT 2 WAS62071 VALVE, RELIEF 1/2"" 125PSI 4 195 780
LOT 2 WAS62193 SOLONOID, WEEP 24V 3/8"" 2 140.4 280.8
LOT 2 WAS65391-P SWIVEL 1"" 90-DEG FxF 3 185.5 556.5
LOT 2 WAS91900 (REAR) , SONAR , L2 Series 1 799.99 799.99
LOT 2 WAS91911 Prox Switch , 18mm , Short Unshld 2 204.99 409.98
LOT 2 WAS91917 PROX 2 1352.55 2705.1
LOT 2 WAS92076-L RECEIVER, TELCO 1 89.99 89.99
LOT 2 WAS9209 BEARING FLANG 2-BOLT 4 85.32 341.28
LOT 2 WAS9971-K BELT, 15MM. X 360 2 305.5 611
LOT 2 WASHXSTA-0001-UBRKT HASP LOCK FOR OUTSIDE OF XSTATION 1 384.29 384.29
LOT 2 WASLINCA7-23 CA7-23-10-24Z , CONTACTOR , 23A , 240V , AC 1 174.99 174.99
LOT 2 WASM618939 ROLLER, BLACK UHMW 4 67.61 270.44
LOT 2 WASM638900 WASHER, UHMW 1 1463.77 1463.77
LOT 2 WASWW007 ORING KIT, ARCH 4 15 60
LOT 2 WATP45071 MINI REGULATOR , 3/8" ,  20R113FC , PARKER 7 40.76 285.32
LOT 2 WL7-200PLC224 WASH LINK VER.4 PLC 1 2400 2400
LOT 2 WLHMI4 WASH LINK VER.4 TOUCH SCREEN 1 714 714
LOT 2 WLUSSOBD SONAR 1 1347.75 1347.75
LOT 2 XWGR41046 OSCILLATOR ELEVATOR BRACKET 6 35.78 214.68
LOT 2 XWGR41047 COUNT FLAG 11 14.3 157.3
LOT 2 XWGR41070-BC BRACKET, LAVA 7 1/2" W/ TAB 8 49.99 399.92
LOT 2 XWGR41070-WB BRACKET, WING KIT MOUNT 2 37.5 75
LOT 2 XWGR41081 AIR SOLENOID MOUNT 2 25 50


